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Test One

ha— PAPER ONE

Part I Listening Comprehension

(20 minutes)
Section A
Directions: In this section, you will hear 10 short conversations. At the end of each converkation,
a question will be asked about what was said. The conversation and the question will be spoken
only once. After each question there will be a pause. During the pause, you must read the four
choices marked A) ,B) ,C)and D), and decide which is the best answer. Then mark the corre-
sponding letter on the Answer Sheet with a single line through the centre.
Example:You will hear
You will read .
A) At the office. C) At the airport.
B) In the waiting room. D) In a restaurant.
Sample Answer [A] [B] [C] [D] _
From the conversation we know that the two were talking about some work they have to finish
in the evening. This is most likely to have taken place at the office. Therefore A) “At the of-
fice” is the best answer. You should choose answer [A] on the Answer Sheet and mark it

with a single line through the centre.

A) No, because there was no ladder.

1. C) Yes, Henry painted it
B) No, because Henry likes the present color.” D) Yes, someone else painted it.
2. A) In a railroad station. C) In a restaurant.
B) In a bus terminal. D) In a hotel room.
3. A) 10 minutes. C) 30 minutes.
B) 20 minutes. D) 40 minutes.
4. A) He used to have one like it. C) He would like to have one.
B) He didn’t think it looked right. D) He couldn’t ride it.
5 A) Her husband. C) A fellow passenger.
B) Her friend. D) A taxi driver.
6. A) Idon’t think so. C) He believed in him.
B) He is superstitious (BE{ZH#Y). D) Sometimes he predicts right.
7. A) $15. C) $50.
B> $30. D) $100. ,
8. A) George invited him. C) No, he hasn’t.
B) Yes, he has. D) George wanted to come.
9. A) New York. C) Philadelphia
B) Chicago. D) Washington.

10. A) She can stay a little longer.

B) She must go home now.

C) Her parents never worry about her.
D) Her parents are too nervous.



Section B :

Directions : In this section, you will hear 3 short passages. At the end of each passage, you will
hear some questions. Both the passage and the questions will be spoken only once. After you hear
a question, you must choose the best answer from the four choices marked A),B),C) and D).
Then mark the corresponding letter on the Answer Sheet with a single line through the centre.

Passage 1
Questions 11 to 13 are based on the passage you have just heard.
11. A) Buying Thomas Jefferson’s books.
B) Buying books in England.
C) Constructing the library building.
D) Asking experts in every field to work there.
12. A) It should have books on all subjects. C) It is the pride of the country.
B) It should buy many books on law. D) It should answer all kinds of questions.
13. A) Being the largest library in world.
B) Having Edison’s first movie.
C) Experts in all fields working there.
D) Having collected various kinds of humorous books.

Passage 2
Questions 14 to 16 are based on the passage you have just heard.
14. A) They are the most attractive women in Britain.
B) They are the most popular film stars.
C) They are the first women news announcers on British television.
D) They appear almost every night in TV plays.
15. A) At 10 in the evening. C) At 9 in the morning.
B) At 9 in the evening. D) At 10 in the morning.
16. A) People still talk a lot about it.
B) Fewer people watched Susan’s program from them on.
C) Anna’s photographs appeared frequently in newspapers. \
D) The number of viewers of her program that day increased by millions.

Passage 3

Questions 17 to 20 are based on the passage you have just heard.

17. A) Tt is completely flat. C) 1t has many large lakes.
B) It has few rivers, D) 1t is hilly,

18. A) The soil has been overworked. C) The weather is too dry.
B) The climate is cold. D) The soil is sandy.

19. A) By raising cattle. C) By working in factories.
B) By working on farms. D) By raising sheep.

20. A) At school. C) From books.
B) From their parents. D) In factories.



Part 1 Vocabulary and Structure ‘

(20 minutes)
Directions ; There are 30 incomplete sentences in this part. For each sentence there are four choic-
es marked A),B),C)and D). Choose the ONE answer that best completes the sentence. Then
mark the corresponding letter on the Answer Sheet with a single line through the centre.

21.  When you speak, you should confine strictly the subject.

f A)don C)about
B)to : D)for

22. After criminals were caught, they were accused and put on
Addeath C)torture
B)trial D)sentence ‘

23. She is very careful with her money, and spends onl& a of her earnings.
A)function C)fountain
B)foundation : D)fraction

24.  As the clouds drifted away an even higher speak became to the climbers.
A)visible - C)apparent
B)obvious D)plain

25. People tend to avoid living in regions where there are extremes of heat and cold; they
prefer temperatures.
A)modest C)ordinary
B)moderate D)intermediate

26. you will have to make up your mind, so you might as well do'it now.
A)Sooner of later C)After all
B)First of all D)last of all

27. He is easily at my words and I do not want to talk to him.
A)defended C)created
B)afforded D)offended

28. We that you knew the whole matter.
Adthought it for sure C)took it for certainty
B)regarded it for sure D)took it for granted

29. 1 difficulties in language when I arrived in London.
Adencountered C)contracted
B)established D)caused

30. Several prisoners form their guards and escaped.
A)broke away C)broke through
B)broke out D)broke down

31.  After a thorough search, the police most of the missing jewels.

‘ Aretreated C)recorded

B)refreshed D)recovered

32. Although buses are to depart at a certain hour, they are often late.
A)scheduled C)outlined
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33.

34.

35.

36.

37.

38.

39.

40.

4.

42.

43.

44.

45.

46.

B)requested

Let me give you

A)advice

B)an advice

It everyday so far this month.
A)is raining

B)rained

The agreement before hand.
A)will have to be drawn

B)will be have to drawn up

I would appreciate
Adyou to keep _
B)that you would keep

it a secret.

D)loaded

C)some advice
D)the advice

C)rains
D)has rained

C)will to be have drawn up
D)have to will drawn up

C)your keeping
D)that you are keeping

They believed that land did not belong to people but people belong to land.
Adthat C)where

B)when D)how

He failed his exam, proves that he wasn’t working hard enough.
A)what C)which

B)of which D)this

We were moved we shouted.

A)soseeas C)such+-+as

B)such---that D)so--+that

He told us that many lives were lost in that accident, ?

Adhad he B)C)did they

had they D)didn’t he

Not only I but also Tom and Mary fond of watching television.
Adam Care

B)is D)be

About a million tonnes of matter leave

surface each second, and this steady out-

ward movement of matter has been called the solar wind.

A)the sun C)the sun’s

B)sun’s D)of the sun’s

When semiconductors are subjected to light, conductivity becomes very high.
Aits . C)whose

B)their D)of which

What he is interested in is

.A)fundamental

B)a fundamental

Rain clouds and smoke caused by pollution look so much alike that one

difference between the two of them.
A)can hardly
B)cannot hardly

“Vertical growth” of cities means that buildings become

ports a big population.

of the modern genetics.

C)fundamentals
D)the fundamentals
tell the

C)can hard
D)hardly can
so that a small area sup-



A)more and more C)larger and larger
B)higher and higher D)taller and taller
47. Galileo’s evidence showed that if resistance of the air is disregarded, all things fall at the

same speed, regardless weight.
Adof C)with
B)to D)from
48. a certain impurity, such as arsenic, into silicon and germanium and they will be-
come semiconductors.
A)Introducing C)Introduce
, B)To introduce D)If introduced
49. Never before made so great achievements in science and technology.
A)we have Chdid we
Blhave we D)do we
50. Every organism produces waste products no longer useful to itself and which to
accumulate would in fact be harmful.
A)if they allowed C)if was allowed
B)if were allowed D)if allowed
Part I Reading Comprehension

(35 minutes)
Directions: There are 3 passages in this part. Each passage is followed by some questions or un-
finished statements. For each of them there are four choices marked A),B),C) and D). You
should decide on the best choice and mark the corresponding letter on the Answer Sheet with a
single line through the centre.

Questions 51 to 55 are based on the following passage:

Another common type of reasoning is the search for causes and results. We want to know
whether cigarettes really do cause lung cancer, what cause malnutrition, (B 35/~ B ) ,the de-
cay of cities, or the decay of teeth, We are equally interested in effects: what is the effect of
sulphur ‘or lead in the atmosphere, of oil spills and raw sewage (357K, ¥5#J)in rivers and the
sea, of staying up late on the night before an examination?

Causal reasoning may go from cause to effect or from effect to cause. Either way, we rea-
son from what we know to what we want to find out. Sometimes we reason from an effect to
a cause and then on to another effect. Thus, if we reason that because the lights have gone
out, the refrigerator won’t work, we first relate the effect (lights out) to the cause (power
off) and then relate that cause to another effect (refrigerator not working). This kind of rea-
soning is called, for short, effect to effect. It is quite common to reason through an extensive
chain of causal relations. When the lights go out we might reason in the following causal chain;
lights out—power off—refrigerator not working—temperature will rise—milk will sour. In
other words, we diagnose (F|ZE) a succession of effects from the power failure,each becoming
the cause of the next.

Causes are classified asnecessary ,sufficient, or contributory) GEHBIEHE). A neces-
sary cause is one which must be present for the effect to occur ,as combustion (X452 ) is neces-
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sary to drive a gasoline engine. A sufficient cause is one which can produce an effect unaided
(M HHY) » though there may be more than one sufficient cause :a dead battery is enough to
keep a car from starting, but faulty spark plugs (:k7EZE) or an empty gas tank will have the
same effect . A contributory cause is one which helps to produce an effect but cannot do so by
itself ,as running through a red light may help cause an accident ,though other factors—pedes-
trians (§7 A )or other cars in the intersection—must also be present.

In establishing or refuting (3% /&, ) 3 Da causal relation it is usually necessary to show the
process by which the alleged (FF & #RH, FF 5 K8 Dcause produces the effect. Such an expla-

nation is called a causal process.

51. What the author discussed in the previous section is most probably about
A)relationships between causes and results C)some other common types of reasoning
B)classification of reasoning D)some special type of reasoning
52. According to the passage ,to do the “effect to effect” reasoning is to reason
A)rom cause to effect ’
B)from effect to cause
C)from effect to effect and on to cause
D) from effect to cause and on to another effect
53. A necessary cause is . -
A)one without which it 1s impossible for the effect to occur
B)one of the causes that can produce the effect
C) one that is enough to make the effect occur
D)none of them '
54. Your refrigerator is not working and you have found that the electric power has been cut

off. The power failure is a _

A)necessary cause C)contributory cause
B)sufficient cause ‘ D)none of them

35. This passage mainly discusses
A)causal reasoning C)various types of reasoning
B)classification of causes D)the causal process

Questions 56 to 60 are hased on the following passage.

1 hear many parents complaining that their teen-age children are rebelling ,I wish it were
so. At your age you ought to be growing away from your parents. You should be learning to
stand on your own two feet. But take a good look at the present rebellion. It seems that teen~
agers are all taking the same way of showing that they disagree with their parents. Instead of
striking out boldly on their own, most of them are clutching at (attempting to seize) one an-
other’ s hands for reassurance.

They claim they want to dress as they please. But they all wear the same clothes. They
set off in new directions in music. But somehow they all end up crowded round listening to the
same record. Their reason for thinking or acting in thus-and-such a way is that the crowd is
doing it. They have come out of their cocoon (ZE#)—into a larger cocoon.

It has become harder and harder for a teen-ager to stand up against the popularity wave
and to go his or her own way . Industry has firmly carved out a teen-age market. These days
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every teen-ager can learn from the advertisements what a teen-ager should have and be. And
many of today’s parents have come to award high marks for the popularity of their children.
All this adds up to a great barrier for the teen-ager who wants to find his or her own path.
But the barrier is worth climbing over. The path is worth following. You may want to
listen to classical music instead of going to a party. You may want to collect rocks when every-
one else is collecting records. You may have some thoughts that you don’t care to share at
once with your classmates. Well, go to it,Find yourself. Be yourself. Popularity will come—
with the people who respect you for who you are. That’s the only kind of popularity that real-
ly counts.
56. The author’s purpose writing this passage is to tell .~
Adreaders how to be popular in with around
B)teen-agers how to learn to decide things for themselves
C)parents how to control and guide their children
D)people how to understand and respect each other
B7. According to the author, many teen-agers think they are brave enough to act on their
own, but, in fact, most of them .
A) have much difficulty understanding each other
B)lack confidence
C)dare not cope with problems single-handed
D)are very much afraid of getting lost
58. Which of the following is NOT true according to the passage?
A)There is no popularity that really counts.
B)What many parents are doing is in fact hindering their children from finding their own
paths.
C)1t is not necessarily bad for a teen-ager to disagree with his or her classmates.
D)Most teen-agers claim that they want to do what they like to, but they are actually do-
ing the same,
59. The author thinks of advertisements as
A)convincing C)instructive
B) influential D)authoritative
60- During the teen-age years, one should learn to
A)differ from others in as many ways as possible
B)get into the right season and become popular
C)find one’s real self
D)rebel against parents and the popularity waves

"Questions 61 to 65 are based on the following passage:

In the same way that a child must be able to move his arms and legs before he can learn tc
walk, the child must physiologically be capable of producing and experiencing particular emo-
tions before these emotions can be modified through learning. Psychologists have found that
there are two basic processes by which learning takes place. One kind of learning is called
“classical conditioning ”. This occurs when one event or stimulus is consistently paired with,
or followed by, a reward or punishment. It is through classical conditioning that a child learns
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to associate his mother’s face and voice with happiness and love, for he learns that this person
provides food and comfort. Negative emotions are learned in a similar fashion.

The second kind of learning is called “operant conditioning. ” This occurs when an indi-
vidual learns to do things that produce rewards in his environment and learns not to do things
that produce punishments. For example, if a mother always attends to her baby when he cries
and c&i%les him until he is quiet, she may teach him that if he cries he will get attention from
mother. Thus, the baby will learn to increase his crying in order to have his mother more.

Every day, we grow and have new experiences. We constantly learn by reading, watch-
ing television, interacting with other people, and so forth. This learning affects our emotions.
Why is it that we learn to like some people and dislike others? If a person is nice to us, cares
about us, we learn to associate this person with positive feelings, such as joy, happiness. and
friendliness. On the other hand, if a person is mean to us, does not care about us, and even
deliberately does thh"lgs to harm us, we learn to associate this person with negative feelings,
such as unhappiness, discomfort, and anger.

61. The author’s main purpose in writing the passage is to
A)teach children how to learn to produce and experience certain emotions
B)give the general reader an account of two basic kinds of learning
C)give parents some advice on how to modify their children’s emotions through learning
D)discuss with psychologists how positive and negative feelings are produced
62. If your jokes often find a ready echo in a person, you will learn through that
telling jokes to this person is fun, and you will try with greater efforts to be humorous in
his presence.
A)classical conditioning C)neither of them
B)operant conditioning . D)some other sorts of conditioning
63. If a child is bitten or startled several times by a dog, he may learn to associate furry ani-
mals with pain or startle and thus develop a fear of furry animals. This is a typical exam-
ple of learning through
A)classical conditioning ~ C)both of them
B)operant conditioning D)neither of them
64. In the third paragraph, the author is
A)discussing how we grow and have new experiences every day
B)talking about learning to modify emotions through operant conditioning
C)concentrating on learning by reading, watching television, interacting with people, and
$O On '
D)using examples to further illustrate learning through classical conditioning
65. In the following paragraphs the author will most probably go on to discuss
A)definitions of positive feelings and negative feelings
B)the third kind of learning
C)further examples of learning through operant conditioning
D)none of the above

Questions 66 to 70 are based on the following passage:
In these days of technological triumphs, it is well to remind ourselves from time to time
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that living mechanisms are often incomparably more efficient than their artificial imitations.
There is no better illustration of this idea than the sonar (B #4}) system of bats. It is billions of
times more efficient and more sensitive than the radars and sonars designed by man.

Of course, the bats have had some 50 million years of evolution to refine their sonar.
Their physiological mechanisms for echo location, based on all this accumulated experience,
therefore deserve our thorough study and analysis.

To appreciate the precision of the bats’ echo location, we must first consider the degree of
their reliance upon it. Thanks to sonar, an insect-eating bat can get along perfectly well with-
out eyesight. This was brilliantly dem%strated by the Italian naturalist Lazzaro Spallanzani.
He caught some bats in a bell tower, blinded them, and released them outdoors. Four of these
blind bats were recaptured after they had found their way back to the bell tower, and on ex-
aniining their stomachs’ contents, Spallanzani found that they had been able to capture and eat
flying insects. We know from experiments that bats easily find insects in the dark of night,
even when the insects make no sound that can be heard by human ears. A bat will catch hun-
dreds of softbodied silent flying insects in a single hour. It will even detect and chase pebbles

(BRA) tossed ([ _E#L) into the air.

66. According to the author , tl/1e sonar system of bats is an example of the idea that
A) this is the age of technological triumphs
B) modern machines are inefficient
C) living mechanisms are often more efficient than man—made machines
D) artificial imitations are always less efficient than living mechanisms
67. The author suggests that the sonar system of bats .
A) was at the height of its perfection 50 million years ago ‘
B) is better than man-made sonar because it has had 50 million years to be refined
C) should have been discovered by man many years ago
D) is the same as it was 50 million years ago
68. Echo location in this article means the
A) location of echoes _
B) ability to determine where an echo comes from
C) scientific term for sound waves
D) ability to locate unseen objects by echoes
69. This article was written to illustrate
A) the deficiencies of man-made sonar
B) the dependence of man upon animals
C) that we are living in a machine age
D) that the sonar system of bats is remarkable
70. The following is the main point of the article .
A) A bat will catch hundreds of insects in a single hour.
B) There is a perfection in nature which sometimes can not be matched by man’s creative
efforts,
C) The phrase “blind as a bat” is valid.

D) Sonar and radar systems of man are inefficient.
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®E= PAPER TWO
Part N Translation

(15 minutes)
Directions : In this part, there are 5 items which vou should translate into Chinese, each item con-
sisting of one or two sentences. These sentences are all taken from the Reading Passages you have
just read in the Second Part of the Test Paper. You are allowed 15 minutes to do the transla-
tion. You can refer back to the passages so as to )
identify their meanings in the context.

71. (Passage 1,Para. 2,Lines 9—10) ‘
In other words, we diagnose a succession of effects from the power failure, each be-
coming the cause of the next.

72. (Passage 2.para. 1,Lines 4—6)
Instead of striking out boldly on their own, most of them are clutching at one
another’ s hands {for reassurance.

73. (Passage 2,Para. 3,Lines 3—5)
And many of today’s parents have come to award high marks for the popularity of
their children.

74. (Passage 3,Para. 2,Lines 5—6)
This occurs when an individual learns to do things that produce rewards in his envi-
ronment and learns not to do things that produce punishments.

75. (Passage 4,Para. 1,Lines 1—2)
In thest days of technological triumphs, it is well to remind ourselves from time to
time that living mechanisms are often incomparably efficient that their artificial imitations.
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Part V Writing

Directions: For this part, you are allowed 30 minutes to write a composition in three para-
graphs. You are given the first sentence of the three paragraphs. Your part of the com position
should be no less than 100 words, not including the words given. Remember to write clearly. You
should write this com position with a pen on the Com position Sheet.

HOW TO SPEND THE SUMMER VACATION

1. In schools, we have Sundays and other holidays.

2. Thus it is for health that we have our summer vacation.

3. Another point we have to consider is that our time should not be spent entirely in play.
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